RED 00'(#
R <
<

DASH MOUNTED PHONE
HOLDER

(2021-2022+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Dash Mount 3mm, 4mm Allen Keys (Provided)
(1) Top Rail

(1) Phone Holder

(2) Adjustment Brackets

(3) 1/4 - 20 x 10mm Allen Bolts

(1) 1/4 - 20 x 15mm Allen Bolt

(1) 3mm Allen Key

(1) 4mm Allen Key

(1) Adheison Promoter Pads

SKU # FB20152
Edited: 09/07/2022



’
REDROCK:
z

STEP1

)

Assemble the dash mount and the upper rail together using (3) 1/4 - 20 x 10mm Allen bolts,
tighten until secure.

STEP 2

Remove the (2) Allen bolts from the lower adjustment bracket, and slide the bracket onto the upper
rail. Begin threading, but do not tighten the lower mounting Allen bolt.



’
REDROCK =
z

STEP 3

Install the upper adjustment bracket to the lower adjustment bracket. Begin threading, but do
not tighten the upper mounting Allen bolt.

STEP 4

Secure the phone holder to the upper adjustment bracket using the thumb screw.



’
REDROCK:
z

STEP 5

Clean the designated areas of the dashboard using the provided (1) adhesion promoter pad.
Allow the adhesion promoter to fully dry.

STEP 6

Peel the red tape backing from the double sided tape on each of the mounting bracket arms. Align
the phone mount assembly to the threaded screw insert at the center of the dashboard. Install the
(1) 1/4 - 20 x 15mm Allen bolt into the threaded insert, then firmly press the mounting bracket arms
downwards to ensure proper adhesion.



’
REDROCK 3
z

STEP7

Adjust the phone mount to the optimal mounting position, then tighten all of the phone mount-
ing assembly hardware.

Installation is now complete.



	FB20152 - RedRock - Dash Mounted Phone Holder (21+ Bronco)-01
	FB20152 - RedRock - Dash Mounted Phone Holder (21+ Bronco)-02
	FB20152 - RedRock - Dash Mounted Phone Holder (21+ Bronco)-03
	FB20152 - RedRock - Dash Mounted Phone Holder (21+ Bronco)-04
	FB20152 - RedRock - Dash Mounted Phone Holder (21+ Bronco)-05

